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 ŸÊ◊Ê¢∑§ Roll No. 
  

 
 

      

 

No. of Questions — 30 P—08—Social Science (Supp.) 

No. of Printed Pages — 11 
 

¬fl̋Á‡Ê∑§Ê ¬Í⁄U∑§ ¬⁄UËˇÊÊ, 2013 
PRAVESHIKA SUPPLEMENTARY 

EXAMINATION, 2013 

‚Ê◊ÊÁ¡∑§ ÁflôÊÊŸ 
SOCIAL SCIENCE  

‚◊ÿ — 3 14   ÉÊá≈U 
¬ÍáÊÊZ∑§ — 80 

 

 ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê — 
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –  

  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 

 2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –   

  All the questions are compulsory.  

 3. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –  

  Write the answer to each question in the given answer-book 

only. 

 4. Á¡Ÿ ¬˝‡ŸÊ¥ ◊¥ •ÊãÃÁ⁄U∑§ πá«U „Ò¥U, ©UŸ ‚÷Ë ∑§ ©UûÊ⁄U ∞∑§ ‚ÊÕ „UË Á‹π¥ –  

  For questions having more than one part the answers to those 

parts are to be written together in continuity.  
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 5. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª̋¡Ë M§¬Ê¢Ã⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •¢Ã⁄U / Áfl⁄UÊœÊ÷Ê‚ 
„UÊŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ê „UË ‚„UË ◊ÊŸ¥ –  

  If there is any error / difference / contradiction in Hindi and 

English versions of the question paper, the question of Hindi 

version should be treated valid. 

 6. ¬̋‡Ÿ ‚¢ÅÿÊ  •¢∑§ ¬̋àÿ∑§ ¬̋‡Ÿ ©UûÊ⁄U ∑§Ë ‡ÊéŒ ‚Ë◊Ê  

  1 – 6 1 20 ‡ÊéŒ 

  7 – 13 2 40 ‡ÊéŒ 

  14 – 22 3 100 ‡ÊéŒ 

  23 – 29 4 150 ‡ÊéŒ 

  Q. Nos. Marks per question Word limit of answer 

  1 – 6 1 20 words 

  7 – 13 2 40 words 

  14 – 22 3 100 words 

  23 – 29 4 150 words 

 7. ¬˝‡Ÿ ‚¢ÅÿÊ 30 ◊ÊŸÁøòÊ ∑§Êÿ¸ ‚ ‚¢’¢ÁœÃ „ÒU •ÊÒ⁄U 5 •¢∑§ ∑§Ê „ÒU –  

  Question No. 30 is related to map-work carrying 5 marks. 

 8. ¬˝‡Ÿ ‚¢ÅÿÊ 23 ‚ 26 •ÊÒ⁄U 28 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –  

  There are internal choices in Q. Nos. 23 to 26 and 28.  

1.  “Á„UãŒ Sfl⁄UÊ¡” ŸÊ◊∑§ ¬˝Á‚h ¬ÈSÃ∑§ Á∑§‚Ÿ Á‹πË ?  

 Who wrote the famous book ‘Hind Swaraj’ ? 1 

2. ¡ÊÃËÿ •‚◊ÊŸÃÊ ∑§Ê Áfl⁄UÊœ Á∑§‚ •Ê‹Áê¬∑§ π‹Ê¥ ◊¥ „ÈU•Ê ?  

 In which olympic games was protest raised against racial 

discrimination ? 1 
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3. Á∑§ã„UË¥ ŒÊ ªÒ⁄U-ŸflË∑§⁄UáÊËÿ ‚ÊœŸÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞ –  

 Write the names of any two non-renewable resources. 1
2  + 12  = 1 

4. “•À¬ ’⁄UÊ¡ªÊ⁄UË” ∑§Ë ¬Á⁄U÷Ê·Ê Á‹Áπ∞ – 

 Write the definition of ‘Under Unemployment’. 1 

5. “©UŒÊ⁄UË∑§⁄UáÊ” ∑§Ê •Õ¸ S¬c≈U ∑§ËÁ¡∞ –  

 Explain the meaning of ‘Liberalisation’. 1 

6. ŒflÊßÿÊ¥ ∑§ ¬Ò∑§≈U ¬⁄U ©Uà¬ÊŒ∑§ mÊ⁄UÊ •¢Á∑§Ã ∑§Êß¸ ŒÊ ¡ÊŸ∑§ÊÁ⁄UÿÊ° Á‹Áπ∞ –  

 Write any two information given on a medicine packet by the 

manufacturer. 1 

7. ™§¡Ê¸ ‚¢‚ÊœŸÊ¥ ∑§Ê flªË¸∑Î§Ã ∑§ËÁ¡∞ – 

 Classify the energy resources. 2 

8. ÷Ê⁄UÃ ◊¥ ¬ÊÿË ¡ÊŸ flÊ‹Ë Á∑§ã„UË¥ øÊ⁄U ¬˝∑§Ê⁄U ∑§Ë ◊ÎŒÊ•Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ –  

 Write names of any four types of soils found in India. 

   1
2  + 12  + 12  + 12  = 2 



 4 

P—08—Soc. Sc.  (Supp.)  P – 908   

9. ÷Ê⁄UÃ ◊¥ ¬ÊÿË ¡ÊŸ flÊ‹Ë ¡Òfl ÁflÁflœÃÊ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –  

 Describe the bio-diversity found in India. 2 

10. ÁŸêŸÁ‹ÁπÃ ∑§Ê ‚È◊Á‹Ã ∑§ËÁ¡∞ —  

 ⁄UÊÖÿ  πÁŸ¡ 

(i) ©U«∏UË‚Ê  •) ÃÊ¢’Ê 

(ii) ◊äÿ ¬˝Œ‡Ê ’) ∑§Êÿ‹Ê  

(iii) •Êãœ˝ ¬˝Œ‡Ê  ‚) ◊Ò¥ªŸË¡  

(iv) ¬Á‡ø◊ ’¢ªÊ‹  Œ) øÍŸÊ-¬àÕ⁄U  

 Match the following :  1
2  + 12  + 12  + 12  = 2 

 State  Mineral 

(i) Orissa a) Copper  

(ii) Madhya Pradesh b) Coal  

(iii) Andhra Pradesh c) Manganese  

(iv) West Bengal d) Limestone. 

11. ÷Ê⁄UÃËÿ ∑Î§Á· ¬⁄U flÒ‡flË∑§⁄UáÊ ∑§ ¬˝÷ÊflÊ¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞ –  

 Discuss the impacts of globalisation on Indian agriculture. 2 
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12. fl·Ê¸ ¡‹ ‚¢ª̋„UáÊ „UÃÈ ∑§Êß¸ øÊ⁄U ©U¬Êÿ ‚È¤ÊÊß∞ –  

 Suggest any four methods of rain water harvesting. 1
2  + 12  + 12  + 12  = 2 

13. ‚ÃÃ˜ ¬Ê·áÊËÿ Áfl∑§Ê‚ ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥U ?   

 What do you understand by sustainable development ? 2 

14. ⁄UÊ‹≈U ∞Ä≈U ∑§ Áπ‹Ê»§ ¡ŸÃÊ mÊ⁄UÊ Á∑§ÿ ‚¢ÉÊ·¸ ∑§Ë ÁflfløŸÊ ∑§ËÁ¡∞ –  

 Analyse the struggle of the people against Rowlatt Act. 3 

15-16.  ÁŸêŸ ◊¥ ‚ Á∑§ã„UË¥ 2 ¬˝‡ŸÊ¥ ∑§ ©UûÊ⁄U ŒËÁ¡∞ — 

 (i) 1929 ∑§Ë •ÊÁÕ¸∑§ ◊„UÊ◊¢ŒË ∑§ ¬˝◊Èπ ∑§Ê⁄UáÊÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡ÿ –  

 (ii) ©UÛÊË‚flË¥ ‚ŒË ◊¥ Áfl‡fl •Õ¸√ÿflSÕÊ ◊¥ •Êÿ ¬Á⁄UflÃ¸ŸÊ¥ ◊¥ Ã∑§ŸË∑§ ∑§Ë ÷ÍÁ◊∑§Ê ∑§Ê fláÊ¸Ÿ 

∑§ËÁ¡ÿ –  

 (iii) 18 flË¥ ‚ŒË ◊¥ ‡Ê„U⁄UÊ¥ ◊¥ •Êÿ ‚Ê◊ÊÁ¡∑§ ’Œ‹ÊflÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡ÿ –   

15-16. Attempt any two questions from the following :  

 (i) Describe the important causes of the Great Depression of 1929. 

    3 

 (ii) Describe the role of technology which brings the changing pattern 

of world economy in the nineteenth century. 3 

 (iii) Explain the social changes which took place in the cities of 

eighteenth century. 3 
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17. ‚¢ÉÊ •ÊÒ⁄U ⁄UÊÖÿÊ¥ ∑§ ’Ëø ‡ÊÁQ§-Áfl÷Ê¡Ÿ ∑§Ë ¬˝áÊÊ‹Ë ∑§Ê ‚¢ˇÊ¬ ◊¥ ‚◊¤ÊÊß∞ –   

 Write in brief the pattern of the division of power between union and 

states. 3 

18. ÷Ê⁄UÃ ∑§Ë ⁄UÊ¡ŸËÁÃ ◊¥ ¡ÊÁÃ ∑§Ë ÷ÍÁ◊∑§Ê ∑§Ë ÁflfløŸÊ ∑§ËÁ¡∞ –  

 Discuss the role of caste in Indian politics. 3 

19. ÁŸêŸ ÃÊÁ‹∑§Ê ∑§Ë ‚„UÊÿÃÊ ‚ ∑§ÕŸ ∑§Ë ¬ÈÁc≈U ∑§ËÁ¡∞ Á∑§ ““◊ÊŸfl Áfl∑§Ê‚ ∑˝§◊Ê¢∑§ ÁŸœÊ¸⁄UáÊ ◊¥ 
¬˝ÁÃ √ÿÁQ§ •Êÿ ∞∑§ ©U¬ÿÊªË ◊Ê¬Œá«U Ÿ„UË¥ „ÒU”” –  

∑È§¿U ⁄UÊÖÿÊ¥ ∑§ ÃÈ‹ŸÊà◊∑§ •Ê¢∑§«∏U — 
 

⁄UÊÖÿ  
2002-03  

∑§ Á‹∞ ¬Á̋Ã 
√ÿÁQ§ •Êÿ  
(L§¬ÿÊ¥ ◊¥) 

Á‡Ê‡ÊÈ ◊ÎàÿÈŒ⁄U 
¬̋ÁÃ  1000 

√ÿÁQ§  
2003 

‚ÊˇÊ⁄UÃÊ Œ⁄U 
 % 

2001 

∑§ˇÊÊ I  ‚ V Ã∑§ 
∑§Ê ÁŸfl‹ 

©U¬ÁSÕÁÃ •ŸÈ¬ÊÃ 
1995-96 

ÃËŸ ⁄UÊÖÿÊ¥ ◊¥ 
◊ÊŸfl Áfl∑§Ê‚ 

∑˝§◊Ê¢∑§  

¬¢¡Ê’ 26,000 49 70 81 2 

∑§⁄U‹  22,800 11 91 91 1 

Á’„UÊ⁄U 5,700 60 47 41 3 

 With the help of the following table establish the statement that "the 

per capita income is not an important parameter to decide human 

development rank". 3 

Comparative Data of Some States 

 
State 

Per capita 
Income 

2002-03 
( in Rs. ) 

Infant 
Mortality Rate 

per 1000 
2003 

Literacy 
rate % 
2001 

Net 
Attendance 

ratio for 
Class I to V 

1995-96 

Human 
development 

rank of 
three states 

Punjab 26,000 49 70 81 2 

Kerala 22,800 11 91 91 1 

Bihar 5,700 60 47 41 3 
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20. ÷Ê⁄UÃËÿ •Õ¸√ÿflSÕÊ ◊¥ ÃÎÃËÿ∑§ ˇÊòÊ ∑§ ÃËfl˝ ÁflSÃÊ⁄U ∑§ ∑§Êß¸ ÃËŸ ∑§Ê⁄UáÊ ‚◊¤ÊÊßÿ –  

 Explain any three reasons of rapid increase in tertiary sector in Indian 

economy. 3 

21. ’„ÈU⁄UÊc≈˛U ∑§ê¬ÁŸÿÊ° ÷Ê⁄UÃ ∞fl¢ øËŸ ¡Ò‚ Œ‡ÊÊ¥ ◊¥ •¬Ÿ ‚¢ÿãòÊ ÄÿÊ¥ SÕÊÁ¬Ã ∑§⁄U ⁄U„UË „Ò¥U ? ∑§Êß¸ 

ÃËŸ ∑§Ê⁄UáÊ ŒËÁ¡∞ –  

 Why are Multinational Companies establishing their plants in 

countries like India and China ? Give any three reasons. 3 

22. ÷Ê⁄UÃ ◊¥ ©U¬÷ÊÄÃÊ •ÊãŒÊ‹Ÿ ∑§ ¬˝÷ÊflË Á∑˝§ÿÊãflÿŸ ∑§Ë ∑§Êß¸ ÃËŸ ∑§Á◊ÿÊ° ’ÃÊß∞ –  

 State any three shortcomings of effective implementation of Consumer 

Movement in India. 3 

23. 1815 ∑§ ’ÊŒ ÿÍ⁄UÊ¬ ◊¥ Áfl∑§Á‚Ã „UÊ ⁄U„U ∞∑§ Ÿÿ M§Á…∏UflÊŒË Œ‡Ê¸Ÿ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡ÿ – 

•ÕflÊ  

 ÁflÿÃŸÊ◊ ◊¥ ©U¬ÁŸfl‡ÊË Á‡ÊˇÊÊ ∑§ ˇÊòÊ ◊¥ »˝§Ê¢‚ËÁ‚ÿÊ¥ mÊ⁄UÊ Á∑§ÿ ªÿ ∑§ÊÿÊZ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡ÿ –  

 Describe a new conservatism philosophy which was developed in 

Europe after 1815. 4 

OR 

 Explain the major work done by the French in expanding colonial 

education in Vietnam. 4 
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24. ÁŸêŸ ¬⁄U ‚¢ÁˇÊåÃ Á≈Uå¬áÊË Á‹Áπ∞ —  

 (∑§) flŸÊ¸ÄÿÍ‹⁄U ÿÊ Œ‡ÊË ¬˝‚ ∞Ä≈U  

 (π) ‡ÊÈL§•ÊÃË ¿U¬Ë Á∑§ÃÊ’¥ – 

•ÕflÊ  

 (∑§) Á„UãŒË ©U¬ãÿÊ‚  

 (π) ’¢ª‹Ê ©U¬ãÿÊ‚ –  

 Write short notes on the following : 

 (a) Vernacular Press Act 

 (b) The First Printed Books. 2 + 2 = 4 

OR 

 (a) Hindi Novels 

 (b) Bengali Novels. 2 + 2 = 4 

25. ÷Ê⁄UÃ ◊¥ ⁄UÊ¡ŸËÁÃ∑§ Œ‹Ê¥ ◊¥ ‚ÈœÊ⁄U ∑§ ‚È¤ÊÊfl ŒËÁ¡∞ – 

•ÕflÊ  

 ÷Ê⁄UÃ ∑§ Á∑§ã„UË¥ ŒÊ ⁄UÊc≈˛UËÿ ⁄UÊ¡ŸËÁÃ∑§ Œ‹Ê¥ ∑§ ŸÊ◊, ©UŸ∑§ ∑§Êÿ¸∑˝§◊ ∞fl¢ ÁfløÊ⁄UœÊ⁄UÊ ∑§Ê fláÊ¸Ÿ 

∑§ËÁ¡∞ –  

 Give the suggestions for reform in political parties in India. 4 

OR 

 Give the name, programme and ideology of any two national political 

parties of India. 4 
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26. ‹Ê∑§ÃÊ¢ÁòÊ∑§ ‡ÊÊ‚Ÿ ¬˝áÊÊ‹Ë ◊¥ ‚È‡ÊÊ‚Ÿ ∑§ •ÊœÊ⁄U ’ÃÊß∞ –  

•ÕflÊ  

 ‹Ê∑§ÃÊ¢ÁòÊ∑§ ‡ÊÊ‚Ÿ ¬˝áÊÊ‹Ë ◊¥ Ã¡ •ÊÁÕ¸∑§ Áfl∑§Ê‚ „UÃÈ ‚È¤ÊÊfl ŒËÁ¡∞ –  

 Explain the bases of good governance in the democratic form of 

government. 4 

OR 

 Give suggestions for rapid economic development in the democratic 

form of government. 4 

27. ÷Ê⁄UÃ ◊¥ ⁄UÊ¡ŸËÁÃ∑§ ‚ÈœÊ⁄UÊ¥ ∑§ ∑§Êß¸ øÊ⁄U ‚È¤ÊÊfl ŒËÁ¡∞ –  

 Give any four suggestions for political reforms in India. 4 

28. ◊Ê¢ª ¡◊Ê∞° ÷Ë ◊Èº˝Ê ∑§Ë ÷Ê¢ÁÃ ÁflÁŸ◊ÿ ∑§ ◊Êäÿ◊ ∑§Ê ∑§Êÿ̧ ∑§⁄UÃË „Ò¥ U – S¬c≈U ∑§ËÁ¡∞ – 

•ÕflÊ  

 ¡◊Ê∑§ÃÊ¸ •ÊÒ⁄UU ∑§¡¸ŒÊ⁄U ∑§ ’Ëø ’Ò¥∑§ Á∑§‚ ¬˝∑§Ê⁄U ◊äÿSÕÃÊ ∑§Ê ∑§Êÿ¸ ∑§⁄UÃ „Ò¥U ? ‚◊¤ÊÊß∞ – 

 Demand deposits also work as a medium of exchange like money. 

Explain. 4 

OR 

 How do banks mediate depositors and borrowers ? Explain. 4 
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29. ÁŸêŸ ¬⁄U ‚¢ÁˇÊåÃ Á≈Uå¬ÁáÊÿÊ° Á‹Áπ∞ —  

 (i) ‚«∏U∑§ ¬Á⁄Ufl„UŸ ∑§ ªÈáÊ 

 (ii) flÊÿÈ ¬˝ŒÍ·áÊ ∑§Ê ÁŸÿ¢ÁòÊÃ ∑§⁄UŸ ∑§ ©U¬Êÿ – 

 Write short notes on the following : 

 (i) Merits of road transportation 

 (ii) Suggestion to control air pollution. 2 + 2 = 4 

30. (∑§) ÁŒ∞ ª∞ ÷Ê⁄UÃ ∑§ ⁄UπÊ ◊ÊŸÁøòÊ ◊¥ ÁŸêŸÁ‹ÁπÃ ∑§Ê •¢Á∑§Ã ∑§ËÁ¡∞ —   

  (i) ŸÊª¬È⁄U  

  (ii) ¬ÍŸÊ –  

 (π) ÁŒ∞ ª∞ ÷Ê⁄UÃ ∑§ ⁄UπÊ ◊ÊŸÁøòÊ ◊¥ ÁŸêŸ ∑§Ê •¢Á∑§Ã ∑§ËÁ¡∞ —   

  (i) ¡‹Ê…∏U ◊ÎŒÊ ˇÊòÊ   

  (ii) ⁄UÊc≈˛UËÿ ⁄UÊ¡◊Êª¸ 15 

  (iii) ∑Ò§ªÊ ¬⁄U◊ÊáÊÈ ‚¢ÿ¢òÊ –   
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 (a) Mark the following in the given outline map of India : 1 + 1 = 2 

  (i) Nagpur 

  (ii) Poona. 

 (b) Mark the following in the given outline map of India : 3 

  (i) Areas of Alluvial soil  

  (ii) National Highway 15 

  (iii) Kaiga Nuclear plant. 

   



. P–9908. 

 x……®……ΔEÚ Roll No. 
  

 
 

      

 P—08—Social Science (Supp.) 
|…¥…‰ ∂…EÚ… {…⁄Æ˙EÚ {…Æ˙“I……, 2013 

PRAVESHIKA SUPPLEMENTARY EXAMINATION, 2013 
 SOCIAL SCIENCE 

|…0 ∫…Δ0 30(EÚ) 
Q. No. 30(a) 

 
  



. P–9908. 

 x……®……ΔEÚ Roll No. 
  

 
 

      

 P—08—Social Science (Supp.) 
|…¥…‰ ∂…EÚ… {…⁄Æ˙EÚ {…Æ˙“I……, 2013 

PRAVESHIKA SUPPLEMENTARY EXAMINATION, 2013 
 SOCIAL SCIENCE 

|…0 ∫…Δ0 30(J…) 
Q. No. 30(b) 

 
  


